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=EZ3253 2,572,178 1,732,543 839,635
< 544,551
Al 2,027,627
=E323 2,449,879 1,600,420 849,459
< 501,200
Al 1,948,679
=EZ: 3 534,162 511,040 23,122
101 @14 dl 284,162 229,040 55,122
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-= &l 140,000 (112 x 10 +72 x2H ) 17,360
-1 S| 50,000 *(11R x10H+7& x2H ) 6,200
-HE S| 500,000& *13| x12H 6,000
S0F Atz 22| 25,202
23 74,000 20 x 128 x 1Y 17,760
-5 74,000& *52F*1H 3,848
- 74,000& 118 x1H 814
-= &l 140,000 =122 = 1H 1,680
- S| 50,000& 128 x1H 600
-HE S| 500,000& 1& =14 500
206 M = Hl 80,000 82,000 A 2,000
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ANEIIETE 2H 65,000
20 £ (S -9 - = 1) 15,000
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HHEMNAFHESS EE2Z2L T4 100,000
03 A& 2 0HHI 1,000 900 100
223 L S22 ALY 1,000
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101 @121l 161,712 154,740 6,972
04 JI2ZtH 22 XNEE % 161,712 154,740 6,972
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A= 74 ,000& x240 +6H 106,560
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- 74,000& 118 x6H 4,884
- &l 140,000& *12& x6H 10,080
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< 300,000
Al 100,000
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Al 100,000
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101 124 dl 258,246 244,800 13,446
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PN 74,0003 x 11 «9H 7,326
-= &l 140,000& 128 x9H 15,120
-w S| 50,0003 x12& 9 5,400
-ZEF O 500,000 23| x9H 9,000
=@ 2CF Y= @ MUY
1,000, 000& x9H 9,000
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ANRES & 2H=23 300,000& x12& 3,600
M2 HELAL2S 200,000& 122 2,400
ST 20,000& x50 1,000
=8 M 1,000& *9,900% 9,900
=9 M 68,4003 x5 x23] 684
FESEAI=LES g e 10,000& 105 x 123l 1,200
Abd| 2f 100,000 3% x33| 900
gaA 22X FLHl 1,200
MEZ2a Wi M 10,000& 2005 2,000
0 gtz 33,000 501 128 1,980
SHEZsHE T 24 4,000
ARTAN =T 10,000
02 232gHl 45,340 0 45,340
&dlle3 2,000
FoIAH ANAE =22 500,000& x123] 6,000
S S22 200,000& =123l 2,400
SMEE = 7,000,000%13] 7,000
SHISHMEE HHaMY B2
5,000,000& x13] 5,000
SIIHEBA HE==2 400,000& 123 4,800
DUCHH A A== 220,000& »12& 2,640
CCTV &el =% 700,000& 123 8,400
e & EA gd 300,000& »12& 3,600
53 gA& S 100,000& 358 3,500
206 M= Hl 34,500 0 34,500
01 =l 34,500 0 34,500
S Mg M 30,000
=1 5,000& *1002!«12& 6,000
== 10,000& 10021 12 12,000
-nggt 10,000& 10021 »12& 12,000
QYU AHEQ 50,000& 90 4,500
207 A RO 13,000 0 13,000
02 & AR 2] 13,000 0 13,000
SHEsHEE SHOIX = 13,000
405 XHoHF S HI 11,315 0 11,315
01 et EZFH S 11,315 0 11,315
Ny 249 258 11,315
-2 A 200,000& *2H 400
- A 210,000 =14 210
-3t OIsAE 150, 000& =34 450
-3l & o Xt 310,000 »3H 930
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-3¢k IR 225,0002 94 2,025
-& A=A 6,000,000 = 1CH 6,000
-2 M IO 1,300, 0002 = 1CH 1,300
QAH IJZ2+FH| 400,000 0 400,000
= 200,000
Al 200,000
401 Al HIZ 201 8] 400,000 0 400,000
< 200,000
Al 200,000
01 A& HI 400,000 0 400,000
QEH IJtZ2 4 FHHIAY 400,000
< 200,000
Al 200,000
A = 24 122,299 132,123 AQ,824
< 43,351
Al 78,948
AEMHEAER0 2SN (T AIsI 2l ) 22,201 21,123 1,078
< 13,321
Al 8,880
101 @14l 22,201 21,123 1,078
< 13,321
Al 8,880
04 JI12ZtHZ22HEE = 22,201 21,123 1,078
SA=X2els el 22,201
< 13,321
Al 8,880
AEMHAZR0 2SN (SAI= 22ld) 100,098 111,000 A 10,902
< 30,030
Al 70,068
101 14 Hl 100,098 111,000 A 10,902
< 30,030
Al 70,068
04 JIZHHZ2XRHEE S 100,098 111,000 A 10,902
S A= Zel&(erAl) 100,098
< 30,030
Al 70,068
HF2F A 180,240 162,240 18,000
Jl23l 180,240 162,240 18,000
JlE&l 180,240 162,240 18,000
201 ¢4l 149,000 140,000 9,000
01 At 2t 2l 23,000 23,000 0
2t H| 18,000
= 2l 5,000
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